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(B.S.B.K.) BUSINESS STUDY AND BANKING 
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(Ug-3) 

Section-B 

All en questions are compulsory (Answer limit 50 words). All questions 
carry equal marks. 

| lotal No. of Puntcd Pages 

(GUg-) 

Section-C 

|Maximum Murks : 50 

(GuG H) 

|Mininum Marks: 18 

Answer any fve questions out of seven (Answer limit 200 words). All 
questions carry equal marks. 

( 1 ) 

(Marks : 10) 

(3BcF : 10) 

(Marks : 20) 

Answer any wo questions out of four (Answer limit 500 words). All 

questions carry equal marks. 

(34F: 20) 

(Marks : 20) 

(3/c6 : 20) 
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(1) 

(x) 

() 

(H) 

(v) 

(ix) 

(iv) 

(vi) 

Definc Business Fnance 

Setion A 

Wrte any mo functions of SBI 

Define Sole Trader. 

(TTUg 31) 

Explain any vo importance of Bank 

(vii) Define Partnership. 

What do you understand by Co-operat1ves ? 

Write any rro functions of Business Finance. 

(viiu) Write a short note on ofice equipment. 

Explain the use of mode equipments in office work. 

What do you understand by Corporate Finance : 

B-170 

3 Write a short note on Ofice Fquipment System 

4. Explain the various forms of BusIness Organisation. 

5 

Explan the jo Stock company 

6 

7 

Write a short note on Autonomous Corporation 

Write down brief history of SBI 

Explain the importance of Filng. 

Explain the functions of CommerCial Bank. 

10. Explain the functions of RB0. 

Section-C 

Explain the character1stICS and importance of Business. 

BRI-419 

(EUg-) 

( 3 ) 



11. Explain the types of Bank in detal 

12. What do you understand by Business Finance and also expla1n the goals and 
objective of Business Finance 
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BRI-421 

Paper - II| stt Gta (t t.) , dtsare 

B.S.B.K. (BOOK-KEEPING) 

Section--A 

(aug-34) 

Section--B 

| Total No. of Printed Pages : 7 

All ten questions are compulsory. Each question is to be answered in around 

50 words. All questions carry equal marks. 

(GUg-a) 

Section-C 

[ Maximnum Marks : 50 

(qUg-H) 

[Minimum Marks : 18 

Answer any five questions out of seven. Each question is to be answered in 

around 200 words. All questions carry equal marks. 

( 1 ) 

(Marks: 10) 

(3fc6 : 10) 

(Marks : 20) 

Answer any two questions out of four. Each question is to be answered in 

around 500 words. All questions carry equal marks. 

(3B# : 20) 

(Marks : 20) 

(3B� : 20) 

B-172 PT.0. 



1. (i) 

(i) 

(iii) 

(iv) 

(v) 

Classify different types of Accounts. 

Explain the matching concept. 

Explain the day of grace. 

Section-A 

What is income and expenditure account ? 

What is Trial Balance ? 

(GUg 3) 

(vi) What is dissolution of firm ? 

cost of goods sold. 

(vii) Sales during the year is 4,00,000. Gross profit is 25% on sales. Find out 

(vil) X and Y are partners, sharing profit and loss in ratio of 3 : 2. They admit 

RI-421 

Z into partnership firm for 1/4 share. Calculate new profit sharing ratio. 

( 2 ) B-172 

2 

3 

(1x) 

(x) 

(a) 

Distinguish between consignment and joint venture. 

(b) 

From the following particulars of Mr. Ajay prepare Bank Reconciliation Statement 
as on 3Ist March, 2022 

(C) 

(d) 

(e) 

(37) 

() 

(4) 

What do you mean by Promissory Note ? 

() 

State the names of various methods of depreciation. 

(3) 

Section-B 

(1gUg-a) 

Bank balance as per cash book 50.000. 

Cheque issued but not presented for payment ? 6,000. 

The bank had directly collected dividend of 8,000 and credited to Bank 
Account but was not entered in the cash book. 

Bank charges ? 400 were not entered in the cash book. 
A cheque of 6,000 was deposited but not collected by bank. 

BRI-421 ( 3 ) B-172 PTO. 



7 

6 

4 

5 

Differentiate between Book-Keeping and Accounting 

Rectify the following errors : 

(a) 

(b) 

(c) 

(d) 

(37) 

(A) 

fffaa 3ryti infra ifs: 

(H) 

(?) 

Credit purchase from Raghu 20,000 were recorded as 10.,000. 

Salaries paid ? 20,000 was debited to Employee's Personal Account. 

Wages paid for installation of Machinery 600 posted to wages account. 

Cash sales 16,000 were posted to Commission Account. 

A firm purchascd a plant for 5.00,000 on Aprl 0I, 2021 and spent 50,000 for 

its installation. The salvage value of plant after its uscful life of 10 years 1s 

estimated to be 10.000. Record journal entry for the year 2021-22. if depreciation 

iS charged using straight Iine method. 

Define object1ves of Accounting. 

BRI-421 4 
B-172 

10 

Saloni and Srishti are partners in a firm. Their Capital Account as on April 01, 

2021 showed a balance of 2,00,000 and 3,00,000 respectively. On July 01, 

2021 Saloni introduced add1tional capital of ? 50,000 and Srishti ? 60,000 On 

October 01, 2021 Salon1 withdrew ? 30.000 and on January 0}, 2022 Srishti 

withdrew 15,000 from their capitals Interest on cap1tal is allowed a 8% pa 

Calculate interest on capital to Golu Partner dur1ng the financial year 2021-22 

AAT 3,00,000 TA | gAÉ 2021 HAn 50.000 41 HZ?? 60,000 

fafre t 6 I HA0À ] g, 2021 1 30,000 

Section-C 

(gU3-) 

What do you understand by Receipts and Payments Account ? How is it 

different from cash book ? 

BRI-421 

What is partnership deed What points are included in it from accounting point 

of view? Explain the provISIon of the Indian Partnersh1p Act, 1932 in the 

absence of partnership deed. 

5+5 

2-5-3 

B-172 ETO. 



Opening stock 

Purchases 

Cash in Hand 

Prepare Trad1ng and Profit & Loss Account and balance shect as on March 31st. 

2022 from the following balances 

Cash ar Bank 

Wages 

Returm inwards 

Fuel and power 

Carriage inwards 

0nsurance 
Build1ngs 
Plant 

Patents 

Debit Balance 

Salaries 

Furniture 

Drawings 
Rent 

Debtors 

Ad;ustients 

(a) Salaries outstand1ng 

(b) 

BRÊ-421 
Wages outstand1ng 

Amount 

24,000 Sales 

1.60.000 Return outwards 

16.000 Capital 
32,000 Cred1tors 

4,000| Bills Pavable 

22.000 Commission Received 

18,000 

6.000 

8,000 

1.00,000 

80.000 

30.000 

28,000 

12.000 

Credit balance 

18,000 

2.000 

80 000 

6,40.000 

( 6 

Amount? 

4,00,000 

1.50,000 

2,000 

12.000 

6.000 

64,000 

20,000 

6.40.000 

4.000 

B-172 

12 

(d) 

fe) 

() 

(37) 

(a) 

(H) 

(7) 

(4) 

(7) 

(1) 

(i1) 

Commission is accrued 

fn: 
(1) 

(i1) 

Deprec1ation on build1ng at 5% pa. and on Plant at 3°% p a. 

Insurance paid in advance 

Closing stock 

When the bill is discounted by Shyam for 200 
When the bill is endorsed to La! Chand by Shyam. 

12,000 

On January Ist, 2022 Shyam sold goods to Visha! for 10,000 and drew upon 
him a bill of exchange for 2 months. Vishal accepted the bl! and returmed to 
Shyam. On the date of matunty the bill was d1shonoured by Vishal Record 

BRI-421 

2,400 

700 

12.000 

12.000 

B-172 

6.000 

2.400 

700 

necessary entries in the following cases in the books of Shvam ard V:shal 
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Name of Examination 

Roll No. (In figures) 

(In words) 

Enrollment No. 

B-173 

Day and Date of Exam 
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(Compulsory) a (t t) btet, te 

Important Instructions 

Attempt all questions. Each question carries I mark. Questions have been set in English. Hindi 

(ranslation is being giren for the convenience of students. Cundidates hure o write correct unsuer 

(4) or (B) or (C) or (D) in the space provided against the questions on OMR Answer-Sheet. 

| 3rfrhr4 3a : 100 
|Maxinum Marks : 100 

(1) BRI-618 P.T.O. 



Who developed IntegratedCircuit Chip ? 

(A) CV Raman 

B) Robern Nayak 

(O) JS. Kilby 

(D) C Babbage 

2. Scanner is used to scan : 

(A) Text 

(B) Picture 

(C) Progrunmer 

(D) Both (A) and (B) 

3. Internet Fxplorer is : 

(A) BrOwser 

(B) File 

(C) Side 

(D) None of these 

2. 

(A) 1. . TH4 

(D) 4. 

(A) 2e 

(B) frr 

(C) SUTHT 

(D) (A) 3TR (B) i 

3. e yVATT: 

(A) I3GR 

(B) 515T 

(C) I^S 

(D) 544 Í 



4 Volatile Memor is 
(4) RAM 

(B) ROM 

C) PROM 

(D) None of these 

5. HTML sands for 

(4) Hper Text Marup Language 
B) Hipr Text Maie Languagt 

C Bo(AjndB 

4. 

6. 

7 

(A) RAM 

(B) ROM 

(C) PROM 

(D) Ë 

HIML : 

B) 2i 

(C) 

C) FAyB) 

B brnp 

C) Doc 

9. 

Which key is used to acceptance of data by 

cell ? 

(A) Enter 

(B) Inset 

(C) Tab 

(D) Shf 

which is paste key ofMS-Word" 

(A) Ci-C 

(B) Cri-V 

(C) Alt-X 

(D) Cui- A 

10. Base of Hexzdecumal Nnber Systen is 

(A) 16 

(B) & 

(C) 10 

D) 12 

8. 

9. 

(A) Enter 

(B) Inse 

iC) Tzb 

D) Sh 

(A) Cri -c 

B Cri -1 

D Cri-A 

LA) 16 

(B) 8 

(C 10 

(D; 12 

BRI-618 PT. 



12. hct nof seaze is MSOHoe 

D LaaE rsar 

Cxe 

13, icn e of datz can be ent y cna! 

Bctures 

B-173 

D) Alof these 

(6) 

B t 

D TTA 

B) f 

BRI-618 

14. Which one is not a Language Trarslator ? 

(A) Compler 

(B) Processor 

C) Assenbier 

D) Interpreter 

15. 1GB is equal to 

(A) (2)/0 

B) (2,9 

C) (20 

D) (2 

16. Shorcut key ofHyperlink in MS-Word is 

(A) Ctri -H 

(B) Ctrl -L 

(C) Ctri - K 

(D) Crl +F 

B-173 

14. 

B) 

C 

15. 1 GB 

(7) 

(B} (229 

16. TE.TE, TË zi 

t4) Ctri -H 

(B) Ctr!-L 

(C) Ctrl -K 

(D) Cri -F 

BRI-618 P.T.O. 

f- ? 



17. Arangement of data in a Logical Order is 

cailed as 

(A} Sorting 

B) Clsijing 

(C) Reproducing 

(D) Indexing 

18. What is the extension of file made in MS 

Access-2010 

(A) Doc 

(B) .accdb 

(C) mdb 

(D) XLS 

19. In MS-Power Point. shortcut key to insert a 

new slide: 

(A) Crl - N 

(B) Shift-N 

(C) Crl + M 

(D) Shift + M 

(B) qriTU 

(C) vfaferfy 

(D) 1HUfHTU 

18. H. UH. H-2010 SIS 

(A) .Doc 

(B) .accdb 

(C) .mdb 

D) XLS 

(A) Crl + N 

(B) Shift + N 

(C) Crl + M 

(D) Shift + M 

20. (01110W100), is cqual to()6 

(A) 2BA 

(B) 3BA 

(C) 2AB 

(D) None of these 

21. The quality of printing is measured in which 

unit? 

(A) cpm 

(B) dpi 

(C) bps 
(D) ppm 

22. In Hard Disk. the track O is 

(A) Outer Most 

(B) Inner Most 

(C) Machine Dependent 

(D) None of these 

23. The Device Introduced by Blase Pascal is: 

(A) Adding Machine 

(B) Abacus 

(C) Difference Engine 

(D) Punch Card 

20. (011i1011100), HHY Á?)6 

(A) 2BA 

(B) 3BA 

(C) 2AB 

21. fufzT Tya à 3AÉ: 

(A) cpm 

(B) dpi 

(C) bps 

(D) ppm 

22. a fs0: 

(B) 3iig4 

(B) 13ha 

(C) fsHj 

(D) ya E 



24. Which one is not a Netvwork Topology ? 
(A) Star 

(B) Car 

(C) Rirg 
(D) Bus 

25. The other ile with an e-mail is called as 

(A) Atachment 

(B) Compose 

(C) Subject 

(D) Inbox 

26. JPEG stands for 

B-173 

(A) Junior Photo Expert Group 
(B) Junior Photo Experience Group 
iC Joint Photography Experience Group 
(D) Joint Photography Exper Group 

27. Which shortcut 'key' is used to display slides 
on full screen ? 

(A) F2 

(B) F3 

C) F4 

(D) F5 

(10 ) 

(A) T 

(B) 

(C) fm 

(D) 4 

(A) 2T4z 

(B) a 

(C) HoR 

(D) 74fH 

(A) F2 

(B) F3 

(C) F4 

(D) FS 

BRI-618 

28. Use of the Pen Drive 

A) For collection 

B) Forcalculation 

(C) For electricity backup 

(D) None of these 

29. Bar Code Reader is. 

(A) Input device 

(B) Output device 

(C) Processing device 

(D) Storage device 

30. Acronym of the URL 

(A) Uninterrupted Resource Location 

(B) Uniform Resource Location 

(C) Unified Resource Locator 

(D) Unifom Resource Locator 

B-173 

28. g33 3H: 

B) 4 

29. ajEÍI 

(11 ) 

(B) A2R TT 

(B) frzfá frrirá iNA 

D) iÁ fraiá iI 

BRI-618 PI 



31. O, edu, tmil.net Extension is known as : 

(A) DNSS 

(B) Top level Donain 

(C) E-mail Tangets 

(D) Web Machine Address 

32. The process to move from one site to another 

B-173 

sit� in web is called: 

(A) RaIuming 

(B) Linking 

(C) Website 

(D) Template 

33. Intemet Explorer is a : 

(A) Web Browser 

(B) Calculator 

(C) Music Player 

(D) Chat room 

(12 ) 

31. go, cdu, mil.net Extension 1 TI 

(A) sÌ.A.TH. TH. 

(B) zfq tar sit 

(C) -'T te 

(A) tfj 

(B) feif 

(C) HI^Z 

(D) }z 

33. 5e y0t: 

(A) aISR 

(B) tr 

BRI-618 

34. On PC, wherc is the Docunnent temporarily 

storcd ) 

(A) RAM 

(B) ROM 

(C) CPU 

(D) Flash Memory 

35. One megabytes equal approximately: 

(4) 1000 bits 

(B) 1000 bytes 

(C) IMillion bytes 

(D) I Million bits 

36. Full form ofHDMI: 

(A) High Definition Multimedia Interface 

(B) High Definition Memory Interface 

(C) High Definition Memory Interchange 

(D) High Definition Markup Interface 

B-173 

(B) ra 

(13 ) 

(A) 1000 faza 

(B) 1000 13ZH 

(C) 1 f4f47 aS3 

(D) 1 ffe4T faH 

36. HDMI 5T faftd g: 

BRI-618 PTO. 



37. Whose function is not available in MS 

Excej 

(A) Sum) 

B) Count 

(C) Max 

(D) Add 

38. Which Operating System is used in Graphics 

Designer or Multimedia? 

(A) Window vista 

(B) Mac OS 

iC) Unix 

(D) LinK 

39. Which type of software to create and manage 

text Document? 

(A) Web Development 

(B) Word Processing 

(Cj Spreadsheet 

(D) GraphIcs 

B-173 
(14) 

(A) Sum() 

(B) Count 

(C) Max 

(D) Add 

(A) farI fTI 

(D) ST44 

(B) Tafi 

(C) gvÍrz 

(D) ufÆA 

BRI-618 

40. Uwanted E-mail is known as: 

(A) Spam 

(B) Palm 

(C) Junk 

(D) Lurk 

41. How many function key is available in key 

board ? 

(A) 8 

(B) 10 

(C) 11 
(D) 12 

42. DVD is an example 

(A) Output device 

(B) Optical disk 

e of : 

(C) Primary memory 

(D) Hard Disk 

43. Window Vista is an example of: 

(A) Application software 

(B) Brow ser 

(C) Operating System 

(D) Share ware 

B-173 

(A) g 

(B) 

D) 

LA) 8 

(15) 

(B) 10 

(C) 1 

(D) 12 

(B) 3fHa fg 

(C) rft6 yfd 

(D) s fss 

(C) 3Í4fz fHA 

BRI-618 F 



44. Which progran provides facility to access 
1web pages? 

(A) Wcb 

(B) Brow ser 

(C) ISP 

(D) URL 

45. Which sofiware is used to reduce size of file 

B-173 

or folder in Windoy ? 

(A) Compiler 

(B) Interpreter 

(C) ilero 

D) Wiip 

46. Who is the First Programer of Conputer? 
A) John Napier 

(B) Ada Augustu 

(C) Aln lunng 

(D) Mark 

(l6) 

(B) 3 sT 

(C) 3TTÉ.ua. Î. 

(D) 4.3R.UT. 

(A) HHTST 

(B) 59Tr 

(C) 

(D) fafGy 

(A) T0H fyr 

(B) q31 3TI 

(C) UerA 

(D) 

BRI-618 

47. PDA stands for 

(A) Private Digital Agency 

(B) Public Data Agent 

(C) Personal Digital Assistant 

D) Personal Device Assistance 

48. Which is not a protocol? 

(A) Pentium 

(B) POP; 

(C) TCPIP 

(D) SMTP 

49. The term Mnemonic is related to which 

programming language ? 
(A) Binary 

(B) Assenmbly 
(C) Machine 

(D) Pyhon 

COMERCAA TRADEh 

50. How to identify the computer on the 

Internet ? 

(A) IP address 

(B) WVW 

(C) Nodes 

(D) E-mail address 

B-173 

47. PDA hI ATH : 

(A) Private Digital Agency 

(B) Public Data Agent 

(C) Personal Digital Assistant 

(D) Personal Device Assistance 

(A) Pentium 

(B) POP; 

(C) TCPIP 

(D) SMTP 

(17) 

(A) asTT 

(B) rAat 

(C) qyA 

(D) Yq 

(A) IÉ d. VEH 

22 213 24 25 2/6 

(B) WWW 

(C) gH 

(D) - VEH 

BRI-618 

10 

P.T.O 



(B) S 

52 4hch dce provsdes Highest Prnting 

(A Procctor 

B Pn 

C) Prer 

Di Scanncr 

53. Sssem BIOS store in woçh memor 
LA RAM 

B-173 

B RuM 

C Cacthc 

D) HDD 

54. Whuch s pos reiated to lardware 

B) Tracá tha! 

(D) Styks 

(18) 

B DS 

B) 

(C) f 

(D) 

(B) 

C) 

(D) HDD 

(B) *t 

BRI-618 

55. Toner is related to whtch rvye of Printers 

A) LiSER 

B) InkJet 

(C) Theal 

(D) Drt 

56. Who is the decloper of Punchcard 

(A) Dernus Ritchie 

(B) Rayun 

(C) Blase Pascal 

D) Henn Hointh 

57. In MS-Paunt thousands of coiours are hased 

On 

(A) RGB 

(B) CMY 

(C BRB 

D) CMK 

38. = Sum (Bl B8y is an example of 

(A Fcton 

(B) Fomula 

C Reference 

D Range 

B-173 

D) 

( 19) 

D) KÍ-Z 

4) RGB 

(B) CMY 

(C) BRB 

D) CMK 

58. - Sum B:BS) TE ZEN: 

(B) 

BRI-618 PTO 



59. Which is not an example of font sty le? 

(A) Bod 

(B) Iaic 

(C) Rerular 

D) Subscnpt 

60. Which shorcut key js used to edit the data 

ofa cell 

A) FI 

B-173 

B) F2 

(C) F3 

tD) F4 

61. Wat s the raximun zoom of a slhde? 

(A) S009 

(C i0 

D) 700% 

(20) 

(A) g 

(B) s2fE 

(C) 

(D) 4afrz 

ufraf ÀfU f A2 

(A) E1 

(B) F2 

(C) E3 

(D) F4 

(A) S0 

B) 400. 

(C) 100 

D) 700 

BRI-618 

62. What IfAnaly sis" is used to open? 

(A) Senano 

B) Goal Seek 

(C) Solver 

(D) All of these 

63. Which Tab is used to apply animation on a 

slide? 

(A) Fomat 

(B) Design 

(C) Animation 

D) Custom 

64. The smallest unit ofa worksheet is called as : 

(A) Sheet 

B) Cil 

(C) Book 

(D) Name book 

B-173 

62. What IfAnalvsis" 1 3TAV 

(21) 

(A) frtr 

(B) 0E 

(C) Ht 

(A) Efz 

(B) fsTSA 

(D) #RH 

(A) zîrz 

(B) ta 

(C) q* 

BRI-618 PIO. 



65. Which hñ ofMS-Excc displavs the fomua 

B-173 

and function? 

(B) Fonula Bar 

66. Convert Decimal (25),, to Binary 

(A) Function Bar 

(C) Math Bar 

(D) Calculaion Bar 

(A) 11011 

(B) I1000 

(C) 10001 

(C) 41 

(D) 42 

(D) 11001 

67. Conver Binary (l01010), to decimal: 

(A) 43 

(B) 40 

(22 ) 

05. 4. UH. Uì H Ê Ge s hNA 68 shoteut key ofUndo and Redo is: 

(B) TI AR 

(C) A< 

(A) 11011 

(B) 11 000 

(C) 10001 

(D) 11001 

67. I^Té (101010), 1 afyHG Ä NEfs : 

(A) 43 

(B) 40 

(C) 41 

(D) 42 

BRI-618 

(A) Cul +/and Crl+ Y 

(B) Ctrl t Xand Crl + Y 

(C) Crl+ Z and Crl + X 

(D) Crl + Yand Ctrl +Z 

69. Spam is related to: 

(A) c-mail 

(B) Spreadsheet 
(C) Word processor 

(D) Presentation 

70. To design the wvebpage code written in which 

lungu.age 

(A) Ct++ 

(B) Assembly 

(C) Winzip 

(D) HTML 

71. Which part of CPU is responsible for 

caleulation? 

(A) ALU 

(B) CU 

(C) Registrar 

(D) Motherboard 

B-173 (23 ) 

(A) Crl + 2 Crl Y 

(B) Crl X sT Crl + Y 

(C) Ctrl Z s Crl + K 

(D) Crl + Y 3fT CIrt +7 

(A) $-H 

(B) evitz 

(D) r 

(A) C++ 

(B) Assembly 

(C) Wivip 

(D) HTML 

? 

(A) ALU 

(B) CU 

(C) Registrar 

(D) Motherboard 

BRI-618 P.T.O. 



72, USB staods for 

(A) Uiversal Sourcc Bnd 

(B) Unique Serial Brs 

(C) Universal Serial Bus 

)) Uiversal Senal Band 

73. Caps Lock and NumLock are w hich types 

173 

ofkevs 3 

(A) Function kevs 

(B) Toggle kevs 

(C) Numeric keys 

(D) Symbolic key s 

74. Which is the largest unit ofmemory? 

(A) GB 

(B) YB 

(C) TB 

D) MB 

(24 ) 

72. USB #1 g| È: 

0? 

(A) Function kevs 

(B) Toggle keys 

(C) Numeric key s 

(D) Synnbolic kev s 

(A) GB 

(B) YB 

(C) TB 

(D) MB 

BRI-618 

75. Which s thc hane o t net work of 
World 

D) Wli 

76. Light 'en should be used on whch type of 
monitor 

(A) CRI 

(B) LED 

(C) OED 

(D) Plsm 

77. WIhich key is used as a Cancellation Key ? 

(A) Tab 

(B) Shifi 

(C) Esc 

(D) Crl 

78. Which language is used to work with AI 

(Arificial Intelligence)? 
(A) Ct+ 

(B) Python 
(C) Java 

(D) Prolog 

B-173 
(25) 

A) ARPANE! 

(A) CRT 

B) i D 

(C) OED 

D) Plasm 

(A) Tab 

(B) Shntt 

(C) Esc 

D) Crl 

(A) C++ 

(B) Python 

(C) Java 

(D) Prolog 

BRI-618 P.T.O. 



79. Aweteite is coflectio of 

A) Wehape 

3) Hardware 

{C) Softwrc 

(D) Vieo 

com is rclated t0 

(A) Private Oryanization 

(B) Atistic 

() Conmercial Organization 

D) Military 

81. Which language computer can understand ? 

(A) Processing 

(B) Bnary 

B-173 

(C) Termary 

D) Octal 

82. Which file is used to start the MS-Word ? 

(A) Win word.exe 

(B) Word.exe 

(C) MS-word .exe 

(D) None of these 

(26 ) 

BO. 

(A) Wehpage $1 

(B) Hardware 1 

(C) Software 1 

(D) Video 51 

com qf: 

(B) arfifrs A 

(D) f-fÁ À 

(A) Processing 

(B) Binary 

(C) Termary 

(D) Octal 

E? 

(A) Win word.exe 

(B) Word.exe 

(C) MS-word.exe 

BRI-618 

A) harles iahtvage 

84. Optical Device is hased on 

A) Laser Bearn 

(B) Rubber Bali 

(O ight S1gnal 

(D) Fiber Channet 

85. BCR stands for 

(A) Bar Code Reader 

(B) Base Code Reader 

(C) Binary Code Reader 

(D) Basic Code Reader 

86. Which one is a super computer of India? 

(A) Sunway 

(B) Smith 

(C) Pratyush 

(D) Tianhe 

B-173 

85. BCR #I TTT T4: 

(27 ) 

(A) Tà 

(B) fy 

(C) yyI 

(D) Ta7 

BRI-618 PT 



87. Who is te ieorofDifference Engine ? 

(A) Al Trng 

B) Chales Babbage 

(C) Suz Cre 

D) Ausz 

8. hich deice is reguired for Internet 

Conecion 

(B) Moien 

(C) CD-Dnve 

D; NIC Card 

89. VGA sands for 

B-173 

A) Video Graphics Array 

(B) Visuai (iraphics Aray 

(C Voiatiie Graphics Array 

D) Video (iraphics Adapter 

(28 ) 

87. fAiTa? 

(B) á 

(A) afz 

(B) fE 

(C) Má-5a 

(D) NIC card 

89. VGA A 4 U: 

(A) f IEE t 

(B) faqrA IfA 

BRI-618 

99. Whch of the followng is a pt of the CPU? 
4) Priner 

B Kehoard 

iC Mouse 

(D) AL 

91. A computer cannot'Boot ifit does not have 
the 

(A) Compler 

B) Loader 

(C) Operating system 
D) Assembler 

92. Chief componet of first generatton computer 
was 

(A) Transistors 
B) Vacuum ubes 

(C) IC 

(D) None of these 

93. VDU is also called: 

(A) Screen 

(B) Monitor 

(C) Both (A) and (B) 

(D) Printer 

B-173 

? 

(29 ) 

(4) fa 

(B) -

(C) I3 

(B) T 

(D) Ta 

(A) afRR 

(B) 

(C) .á. 

93. VDU E #3 i: 

(A) 55T 

(B) 4Íia 

(C) (A) 3Tt (B) ri 
(D) f 

BRI-618 P.IO. 



94. Track-Ball is a 

(A) Input dev ice 

(B) Output device 

(C) Program 

(D) None of these 

95. The First Web Browser is : 

(A) Mosaic 

B-173 

(B) Netscape 

(C) Intermet Explorer 

D) Collabra 

96. Junk e-mail is also cal!ed: 

(A) Spam 

B) Spoof 

C) Snitter seript 

D) Spoo! 

97. Malicious sofware is known as 

(4) Badware 

B) Maiware 

iC) Malicious ware 

(D) legal ware 

(30 ) 

94. afa vE 

(B) 3AT3ZY2 Yf 
(C) 9TrA 

(A) T 

(B) ­g 

(C) 32H Eir 

(D) AT 

96. GF- ÀÌ: 

(A) 4H 

(B) 5 

(C) fn fZ 

(A) 

(B) Tàur 

BRI-618 

98. The universal gate is 

(A) NAND gate 

(B) OR yate 

(C) AND gate 

(D) None of these 

99. The server on the Internet is also known as 

(A) Hub 

(B) Host 

(C) Gaterway 

(D) Repezter 

100.The boty tagis usuall sed after 

(A) HTML Tag 

(B) EMTag 

(C) Titie Tag 

(D) Head Tag 

B-173 (31 

(i3) OP ate 

(C) AND gte 

BRI-618 PIO 
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